Guidance document 51

Trigonometric equations
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Learning outcomes Prove the trigonometric functions,the inverse trigonometric

functions. And solve trigonometric equation.
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Intended destination Find the answers to the trisonometric equation. Not given the

interval of answer .
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1.sin@ = sina ¥ cosecl =coseca WAd O =nrz+ (— 1)n o
2. cosf = cosa 38 secd =seca Wl 0 =2nrta
3. tan@ =tana 38 cotd = cota Wl 0 =nz+a

Alternate Examplel Solve algebraiccally for exact solution

1) sindx+sin2x =0 the interval [0,2n)

solution 2sin 4x ; 2x cos Ax—2x 0

25iN3XCos X =0
2(3sinx-4sin * x) cosx =0
2sinxcosx(3-4sin % x) =0

sinxcosx(3-dsin % x) =0




sinx =0 or cosx = 0 or 34sin’x =0
x=0,7 or x =
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3) 6tanx-543 sec x + 12cot x =0

sinx 5\/5 n 12cos x

solution 6 -
CoS X COS X SINX
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1) 4sin® =1

2) tan'0-3=0

3) tanOsinO+tanB=0
4) sec’0-2tan0=0

5) c0s20 = sinO



RagLeNAITRNBLaY 51
f29819  NAINDUVDIFUNITHS LR

1) sindxtsin2x =0 il x€ [0,27)
24in 4X + 2X cos 4x —2X -0
2 2
2sin3xcos x =0
2(3sinx-4sin * x) cosx =0
2sinxcosx(3-asin % x) =0
sinxcosx(3-dsin? x) =0

sinx =0 38 cosx = 0 %38 3-4sin’x =0
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